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HEH = (ke/ ) BENE (kg/HF)
#B3E HHE
R (BERRE| ko~ |k~ [ BECCL gug |kt~ mmn| sps | BDE
a—Fk DHEH | DHEH AR B T &5 DBRB=E| K &&t = A
1 |deiEE 2.0E+0 2.0 2.0
2 |EHE
3 |AFE
4 |EHE
5 (AR
6 IR
7 |fRBE 4.6E+0 46 46
8 |ZWE 5.1E+1 50.7 53E+2| 1.1E+4 11,788.0 11,838.7
9 |HAE 3.0E+1| 8.0E+1 1100 110.0
10 [HER 3.3E+2 330.0 7.3E+3| 1.1E+5 119,001.7 119,331.7
REEET! 29E+1| 1.8E+4 18,051.9 18,051.9
12 |FER 8.6E+0 8.6 5.8E+4 57,980.0 57,988.6
13 |HREER 8.1E+1 81.0 81.0
14 |[#E)E 1.6E+1| 2.2E+4 22,100.7 22,100.7
15 |FiRk 6.8E+0 6.8 6.8
16 |[EWE 1.0E+3 1,000.0 1,000.0
17 |RINE 9.2E+1 92.0 92.0
18 |f&@HE 7.4E+0| 7.6E+1 83.4 83.4
19 [ILEE
20 |RHE
21 KRR 8.0E+0 8.0 8.0
22 |E&mER 3.0E-1 0.3 9.7E+1 97.4 97.7
23 |BHE 1.3E+0| 9.1E+1 92.2 6.3E+3| 1.2E+4 18,674.0 18,766.2
24 |=ZER 4.9E+0 4.9 2.5E+2 2495 254.4
25 |#HER 3.9E+1| 23E+2 2725 2725
26 |FARRT
27 | KBRAF 1.0E+0 1.0 9.4E+2| 2.7E+3 3,670.7 3671.7
28 |EER 1.0E-1 0.1 1.4E+1| 1.3E+3 1,354.6 1,354.7
29 |ERR 2.4E+0 24 2.4
30 |FOERILE 1.0E+2 100.0 3.6E+0| 4.0E+1 435 1435
31 |BHRE
32 |BRE 1.7E+0| 3.7E+1 38.7 38.7
33 |[FWLE 1.0E+1 10.0 10.0
34 |[LER 4.2E+3 4,200.0 4,200.0
35 |lLAOg 1.2E+4 12,066.0 8.6E+3 8,600.0 20,666.0
36 |EER
37 |BIIR 8.0E+0 8.0 8.0
38 |BER 3.6E+3 3,600.0 3,600.0
39 |EER
40 |fERR 8.2E+1| 6.7E+2 752.7 752.7
41 [ERR 2.6E+0 2.6 7.0E-1| 1.7E+2 1717 174.3
2 |RIBER
43 |RERR
44 | KHR
45 |EIFE 1.8E+3 1,800.0 1,800.0
46 |EEER 4.8E+0 48 48
47 |[HiER
£ H 40E+0| 20E+4 19,748.4 1.5E+4| 2.5E+5 266,768.6 286,517.0
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